PROFESSIONAL EXAMINATION

Pbei%ﬁfﬁﬁ?gn Police Constable Recruitment Test -
6 board 2017

315t Aug 2017 09:00AM

Topic:- General Knowledge and Logical Knowledge

1) On which book is the movie ‘Kai Po Che’ based? /ﬁﬁ? 'ﬂ)'lg oo feyg J&dd IR 3ryTid %?
1. Olympus / ey

2. The 3 Mistakes of My Life / 3 ey ot arg NIELY

3. The God of Small Things / & T8 31 WHid I

4. One Amazing Thing / d- SHfoRT fAfT

Correct Answer :-

» The 3 Mistakes of My Life / 3 e st w1y NIEYY

2) Which city has Bina Refinery, also known as Bharat Oman Oil Refinery, a joint venture between
Oman QOil Corporation and Bharat Petroleum Corp? / ﬁ? '\Q LIRS iG] e % ﬁl’\ﬁ HRd
3NAT ad et it SIrAT SraT 8, S AT Sifad SIaRE SR HR Ueiferaw &id & da e
Hgad STH &2

1. Satna / Hd-l
2. Ujjain / Il
3. Chanderi / Elaé

4. Sagar /IR

Correct Answer :-

e Sagar /IR

3) Which constitutional amendment established the Panchayati Raj in India? / fora gaufRe

TRNYT A HRA H YETId! IS B RITYAT B 82
1. 22" Amendment / 22<_Z|T e
2. 75" Amendment / 75?JIT RRICE

3. 65" Amendment / 656|T e



4. 73" Amendment / 7397 Tdge
Correct Answer :-

o 73" Amendment / 7391 I

4) Hindola Mahal and Jahaz Mahal are both located in___./ %@?IT Hed 3R lglel Hed Eﬂq)f
_ HfeE?

1. Mandu / 1:|'|_§'

2. Bhojpur / 'l-n\_l‘l'gT

3. Rewa /3Jdl

4. Rajgarh /XIVITg

Correct Answer :-

e Mandu/ 1:|'|_§'

5) Ashoka belonged to: / 3N f O Hafta 2
1. Gupta dynasty / [t Rl

2. Maurya dynasty / R g

3. Kushan dynasty / YU Rl

4. Saka dynasty / X[ dXT

Correct Answer :-

e Maurya dynasty / o gm

6) Karera Sanctuary is established in the year. / PRI AHIRVY ERGKGLS) H wiTfUq BT YTI
1. 1988

2. 1981

3. 2000

4. 1991

Correct Answer :-

7) How many High Courts operate in the country? / o= ¥ faq S=1 <ararery SdTferd %'?

1.29



2.24
3.27

4.22

Correct Answer :-

e 24

8) The Finance Commission is appointed every / o smarT ot L4 S_clﬁ qul & ﬁ'ﬂﬁ forar sman %
1. 5years/5 CL

2.3 years/3 ¥

3.2 years /2 Gl

4.4 years/4a'5f

Correct Answer :-
e Svyears/5 CL

9) The first Indian state to achieve 100 percent primary education is ./ 100 fa=Ta wrufis
fRr&m Tt 37 a1l uger YRR sy gl

1. Gujarat / 7[SIRId

2. Tamil Nadu / ?F&IFFH‘@’
3. Kerala / B%d

4. Delhi / facht

Correct Answer :-

« Kerala / Hd

10) The term ‘Chinaman’ is associated with / g ECieiCy m Wmﬁ%
1. Football / pedld

2. Swimming / GG

3. Cricket / fohbe

4. Tennis / <™

Correct Answer :-

« Cricket/ fpore

11) Who is the current Chief Minister of Maharashtra? / HERTY & qeHE JEHA B 3?2



1. Devendra Fadnavis / ¢d< Hauay
2. Vilasrao Deshmukh / facRTd m
3. Sharad Pawar / [Rq UdR

4. Bal Thackeray / dlc] BTHY

Correct Answer :-

» Devendra Fadnavis / ¢o% HeUag

12) Who is currently the Union minister of Textiles? / JAHT § 9% & I At B %?
1. Radha Mohan Singh / THT A1 Rig

2. Smriti Irani /Wﬁ EREl

3. Maneka Gandhi / BT TT7efY

4. Sushma Swaraj / JUHT WA

Correct Answer :-

 Smriti Irani / @jﬁf QIR

13) Who is the Cabinet Secretary of India? / HIRd BT Ffae G a4 %?
1. Shyamala Gopinath / RITHAT MY

2. Pradecp Kumar Sinha / U410 $HR g1

3. S Jaishankar / T SRR

4. R K Dutta / 3R & &I

Correct Answer :-

e Pradeep Kumar Sinha / Uiy PHAR Rrg1

14) Who is the Union Minister for Science and Technology? / ﬁ?l'l‘f MR wa? Wﬂ'ﬁﬂ CaC|

?
1. Harsimrat Kaur Badal /maﬁvw
2. Narendra Tomar /W?‘ﬁ'ﬂ?

3. Uma Bharati / SHT 4Rl

4. Harsh Vardhan /Bﬁa‘iﬁ

Correct Answer :-

e Harsh Vardhan /Bﬂ?ﬁh



15) Anti-Leprosy Day is observed on / $F INT 3a fead B AT SATAT 3 |
1. April 25t / 25 30

2. January 30" / 30 SFa%}

3. December 15t/ 1 fTGUwR

4. July3d/3 \_EI‘E'II'QF

Correct Answer :-

e January 30th / 30 SFaY

16) Cow Sanctuary in Madhya Pradesh is located at: / H U%QT T YIRUY T wH ) fRG

e

1. Pachama (Sehore) / TaHT (RIBR)

2. Salariya (Agar) / TARAT (3TR)

3. Mangaliya (Indore) / HTIRIT (3R)
4. Bandol (Seoni) / S&Td (a3

Correct Answer :-

« Salariya (Agar) | AR (3TR)

17) is India's first dedicated space observatory launched in 2016. / YR B UYH

gafta siafver du=men & oyt uauvr 2016 & fooam war AT
1. CARTOSAT / BIcIC
2. SARAL / 83d

3. ASTROSAT / TRERIC

4. Kalpana—1/hcUdl -1

Correct Answer :-

« ASTROSAT / T&NIT

18) Which yogana intends to rid villages of filth and mud and create atmosphere of sanitation. AL T

ST BT IR Tl P Tl TUT P | Yad BT aYUT TS aTd1aVl ST (HHT01 BT 32
1. Ladli Laxmi Yogana / TS cil i&H BISEN

2. Mukhyamantri Gram Sadak Yojana /WWWW

3. Nandishala Yogana EHINIEISE

4. Panch Parmeshwar Yojana / U TRERAR Tl



Correct Answer :-

e Panch Parmeshwar Yojana / Ud ORAHTER oAl

19) Which Indian won the 2017 Australian Super Series Badminton tournament? / g WRda A 2017

SRS YUR Y dsfiies Wa ufagifiran st 8t
1. Nanda Gopal / =ie TIIUTel

2. PV Sindhu / U1 ot g

3. Kidambi Srikanth / fascelt Sipid

4. Sai Praneeth / 9Tg HUId

Correct Answer :-

e Kidambi Srikanth /ﬁa_c,i'a:T fpid

20) Select the option that is true about the Statements and Conclusions given:
Statements:

All flowers are seeds

No petals are flowers

Conclusions:

I. No petal is a seed

II. All petals are seeds

1 39 faPey &1 99 I Sife R Uyl iR Fepuf F IR A Tl 2
DY-:
i padie g

free:

L. Pg TGS U dieT 81 8

1. 9 g St fiwr &

1. both conclusion I and II follows / fAspy 1 3R 11 L] SR GG %

2. either conclusion I or conclusion 11 follows / TT dl fp 1 a7 fAeepf 11 ST A %
3. only conclusion I follows / Had 5HY I STFIRTT pT %

4. only conclusion II follows / Fad sy 11 SR HT %

Correct Answer :-

e ecither conclusion I or conclusion II follows / a7 af ﬁEh_Ef 141 ﬁ'@ﬁ JIRS SR A %

21) If paper is called wood, wood is called straw, straw is called grass, grass is called rubber and rubber
is called cloth, what are tyres made of? / gfe paper B wood FET AT %, wood B straw FET STl %, straw
3| grass gl SIldl %, grass @I rubber el SITdrl % Gﬁ?' rubber B cloth CRIIGH %’, ar TR fPa iﬂﬁl Ca|
CEIKGINH

1. Cloth



2. Grass
3. Rubber

4. None of the above / 57##1%?_\'#57?#737’

Correct Answer :-

o Cloth

22) Complete the series choosing the missing number: / T BT TABY AT BI TIT

HifeTg:
3,6,520,7,42,9,
1. 66

2. 54

3.72

4. 60

Correct Answer :-

23) Complete the series choosing the missing number: / T BT TAB AT BI TRT

Hifrg:

12, 32, , 152, 312
1. 74

2. 75

3.70

4. 72

Correct Answer :-

24) Complete the series choosing the missing number: / & BT DR YT BT T

Hifore:

21, 25, 33, 49,
1. 80

2.75

3.81

4.72



Correct Answer :-
o 81
25) CANCELLED

Swami Vivekananda attended the conference of World Religions in 1903 at / T ﬁﬁm 1903 ﬁ,

gl Smaiford fay el & Twhas &y form or:
1. London / TG

2. New York / gdid

3. Tokyo / Il

4. Chicago / FRI&TT

Correct Answer :-

e Chicago / EEga

26) The series given below contains a sequence of numbers. Identify the incorrect combination: / = T:ﬂ

TS e §, =13 BT TH HH IURIT & | Terd HaIoi Tgafie:
4,9,19,40,79

1.4

2. 40

3.9

4.79

Correct Answer :-

27) Find the odd one out: / §h fauw JTd aﬁﬁlﬂ:
115, 100, 90, 70, 45, 15

1. 100

2.90

3.45

4.70

Correct Answer :-



28) Two dice are thrown simultaneously. What is the probability of getting a sum, which is a multiple of 4.

/ 31 UTY U 1Y B Y &' I/ U1 TNT T B3 B U fA 8 S 4 &7 Ui &)
i
1. 9

3
2. 4

w
|

o b

Correct Answer :-

29) Complete the series choosing the missing letter/s: / &l &R/ 3MERT DI AP Y@l Cal g PIfoTT:
aab _a bb_ a

1.a,b,b

2.a,b,a

3.b,a,b

4.b,a,a

Correct Answer :-

30) A is taller than B who is shorter than C. D is taller than E but shorter than B. C is shorter than A.
Who is the tallest? / A, B ¥ @iaT & Siifeh fF C A BICTRI D, E A @aT g AfPAI B A BIEIRI C, A A BTl
I A B 82

1.E
2.C
3.A

4.D

Correct Answer :-
« A

31) The series given below contains a sequence of numbers. Identify the incorrect combination: / LiE] Eﬂ

TS adr ®, YBT3} o1 U Y IURIC & | Ted Yo Ugan=e:



325, 259, 202, 160, 127, 105, 94
1.202

2.94

3. 127

4. 259

Correct Answer :-

e 202

32) How many 5-digit numbers can be formed with 0, 1, 2, 3, 5, which are divisible by 2? / 3l 0,1,2,3,

5,9 5 3 qrell W} fpat T Affa g gl € &l 2 A usu @2
1.42
2.24
3.72

4. 60

Correct Answer :-

e 42

33) Select the option that is true about the Statements and Conclusions given:
Statements:

Some thieves are robbers

All burglars are robbers

Conclusions:

I. Some burglars are thieves

I1. Some robbers are thieves

/ 39 fapey &1 99+ Fifore Sife T T =l sk fAspul F IR A Tt 2
DY

PO ARSIE &

i YemR ST &

.

L. 90 JUIR AR &

NLPSSH AT

1. both conclusion I and II follows /ﬁ'EI’T‘SfI 3R 11 K] ST GG %

2. neither conclusion I nor conclusion II follows / - ébf fpy | G‘ﬁT q fﬁ fpy 11 SR B %
3. only conclusion I follows / Fad sy 1 STFIRTT HAT %

4. only conclusion II follows / Fad sy 11 SR HAT %

Correct Answer :-



« only conclusion II follows / Hdd f5HY IT 3fITRUT Hl §

34) Select the option that is true about the Statements and Conclusions given:
Statements:

All doctors are surgeons

Some doctors are homoeopaths

Conclusions:

I. Some homoeopaths are surgeons

I1. All homoeopaths are surgeons

1 39 fapeu &1 9g9 Fifere e A e syt sik Frepuf S aR A 9 2 :
DY:

Tt ST e &

PO Sl SIS 3

e

1. $O SIS OOl §

1. I grRufie Jiq @

1. both conclusion I and II follows / FeFS I 3R II g1 SR HRd g

2. neither conclusion I nor conclusion II follows / - gbf WI GﬁT q _6& ﬁ'@'mf 11 3R GG %
3. only conclusion I follows / Fad sy 1 STFURT pdT %

4. only conclusion II follows / Fad f=py 11 TR HIAT %

Correct Answer :-

« only conclusion I follows / Had w1 SR HAT %

35) Select the option that is true about the Statements and Conclusions given:
Statements:

No charms are harms

No balms are harms

Conclusions:

I. No balms are charms

I1. Some balms are charms

1 39 ey &1 99+ Fifere sife R 1T syt sik fepuf S aR A I 2
DY:

oS A g A8

HIS I g g §

e

LS THaAH T

1. both conclusion I and II follows / fsHY I 3R 11 S STTRUT FHRd &
2. either conclusion I or conclusion II follows / T Y fSHY 1 T FSHT 11 SFIRUT Rl g
3. only conclusion I follows / Fad fpy 1 SR HT g



4. only conclusion II follows / Had (5B II TR HIAT %

Correct Answer :-

« either conclusion I or conclusion II follows / TT @l fswd 1 a1 fFAm e 11 SFTEROT g

36) In a certain code language, rng gat goz mpqg means Integrated Rural Development
Programme, tyho rng fem means Improved Rural Economy, and mes rds tyho means Urban
Economy vitalisation. Which is the word for Improved in that code language? /Ud @
CACRYIL ﬁ, rng gat goz mpq 61 3l of Integrated Rural Development Programme; tyho rng
fem &1 3y Improved Rural Economy dUT mes rds tyho &1 3 & Urban Econom y vitalisation

BT 81 59 B8 YN § Improved & it frd 2reg o1 s¥dwTe fpam T 82
1. goz
2. rng
3. tyho

4. fem

Correct Answer :-

37) If TANGENTis coded NATGTNE, then how is MUSTARD coded? ? | Gf¢ TANGENT &}
NATGTNE® HIf&d fHar ST 8, @ MusTARD & $A Hifsd far smam?

1. SUMTPRA
2. SUMTDRA
3. DRATMUS

4. MUSTDRA

Correct Answer :-
e SUMTDRA

38) If MONKEY is coded YEKNOM, then how is REMEDY coded? / Tlﬁ MONKEY & YEKNOM I
PIfSa far orar 8, O REMEDY &) X FIfSa farar SrAwm?

1. RDEMEY
2. YEDEMR
3. YDEMER

4. YREMED

Correct Answer :-

e YDEMER



39) If VICTORY is coded YLFWRUB, then how is SUCCESS coded? / Tlﬁ VICTORY &I YLFWRUB

¥ Pifed forar omaT B, 9t SUCCESS &1 &3 $ifsd fvar smam?
1. VXEEIVV
2. VYEEIVV
3. VXFFHVV

4. VYFFHVV

Correct Answer :-
e VXFFHVV

40) Choose the number which is different from others in the group: / 3 I8 &1 T4 P o
T H e A i 3:

10, 21, 24, 26
1.21
2.24
3.26

4. 10

Correct Answer :-

Topic:- Mental Ability and Mental Aptitude

Which of the following is less thanﬁ% ?/ ratefEa 7 O 5= 6% & 5

Correct Answer :-



214l
. 8
2)
In the sequence shown below, which figure comes next? /AR BE T & A eI Hﬂ?ﬁ Fi @
HEED
0 (L] =] |-
| .
1 1] n v
i N,
¥
N/
1.
2.
f"‘xj
3.
4,

Correct Answer :-

3)
A circular park has a square swimming pool of dimension 150 m x 150 m. If the land area of the park is
116100 sqm, what is the diameter of the park? /T dedlbl IGAT #H U 150 HIEL x 150 Hiel

T T FAMPR aROT diel 81 AR e 1 o aAwel 116110 GIHIE &, df 38T &l
oA T gem?

1.400 m /400 HieR



2.420m /420 Hiex
3.200 m /200 Hiex

4,210 m /210 HleX

Correct Answer :-

e 420m /420 Hie?

4)
The value of x which makes (%+1) =(l+%) is: /% I HI AT (%+1) =(1+%)
A1 &

1. 23

2.2

3.1

4.8

Correct Answer :-

5)

1 ] v




o[>

Correct Answer :-

4.

6)

If the following two squares shown below overlap. which one of the following options is formed? / AT

AR geT 71T gY g9 Afgcara & ar @9 § § &9 91 v Aded aedr &7

A~

H“lllrn

4.

Correct Answer :-

7) Which of the following has fractions in ascending order? / fRgfeRaa d ¥ fg o fum
IR PHH B2



8) Which one of the following four addresses is NOT EXACTLY same as the one given

below? / % f33 T IR ual & & 1 1, i ol T v & faepa qu= € 82

Gerhard
Leimkugelstr. 13,

SchOPpenstedt, 38170

(i) Gerhard

Leimkugelstr. 13,

SchOPpenstebt, 38170

(ii) Gerhard
Leimkugelstr. 13,

SchOPpenstedt, 38170

(iii) Gerhard
Leimkugelstr. 13,

SchOPpenstedt, 38170

(iv) Gerhard

Leimkugelstr. 13,



SchOPpenstedt, 38170

1. iii

9) During a certain military drill, when 6,440 soldiers were asked to line themselves in
rows such that they maintain an equal numberof soldiers in each row to form a perfect
square, it was found that 40 soldiers had been left out. In this case, how many soldiers
were standing in each row? / & fAf¥d =0 3T & SR, 19 6,440 D] F WY 59 TSR
it a9 & R w1 a1 R P ude ufea & v e A e o1 e vd ve gof e a9
T, dt g8 uran T fk 40 Afe #) BYs fear mar un1 59 fRUfa # yde ifea o fa afve @s a2

1.40
2. 80
3. 64

4. 60

Correct Answer :-

- 80

10) In a college, out of 850 students, 230 play cricket; 250 hockey and 360 basketball. Of
the total, if 75 play both basketball and hockey; 68 play cricket and basketball; 37 play
cricket and hockey; and 30 play all the three games, how many students don't play any

games at all? / U® HgIfdenay #, 850 faenfial & & 230 fhdre, 250 st T4 360 IRBedd
Qad g1 afe $a & A, 75 TRPedld TF gid! gl Wad 8, 68 fhde Td IRPbeaiad @ad 8, 37
fpde ud gl Tad & vg 30 Wt i+ Qa Qad €, o fraq faendf #i o @« 76 @aa 82
1. 140

2. 160

3. 130

4. None of the above / SWRIgd & 9§ ®Ig Tal

Correct Answer :-

11) Raman sells his old bicycle at Rs. 1280 and loses 20%. At what price would he have
bought the bicycle? / Y8 A 3T QR ATSfFd 1280 A W 9t oA 39 20% ot g1
g3 | SO fhaq Tou R 39 Wisfha &) @iiar g



1. Rs. 1760 / 1760 3Ud
2.Rs. 1600 / 1600 ¥Ud
3.Rs. 1900 / 1900 ¥Ud

4, Rs. 1650 / 1650 ¥UY

Correct Answer :-

e Rs. 1600 /1600 3UY

12) The total age of A and B is 12 years more than the total age of B and C. C is how many
year younger than A. / A T4 B ®! $d 3T, B Ud C 31 o g T 12 I 3ifrew 81 ¢, A A famn
99 BleT 8|

1.11
2.13
3.14

4.12

Correct Answer :-

e 12

13) A and B can together finish a work in 30 days. They worked together for 20 days and
then B left. After another 15 days, A finished the remaining work. In how many days A
alone can finish the job? / A T4 B U &4 &1 30 3=l # THTW &% 9d &1 3 T Iy 20 feA)
TP BT Hd § dUYT B BIS Ta1 81 15 fa11 Uy, A ;¥ ST ) T Hean gl fvam A d A
WY 59 BTd B U B DT 82

1. 45 days / 45 fad
2. 30 days /30 faA
3. 40 days / 40 faA
4. 35 days /35 &
Correct Answer :-
« 45days /45 fad

14) Two pipes can fill a tank in 10 hrs and 12 hrs, respectively, while the third can empty it
in 20 hrs. If all the pipes are opened together, how much time will it take for the tank to be

filled up? / ) AT dH) H HH: 10 T 12 G H W Jhdl &1 STafe T3 Toft Tl o1 20 6 &
QT F <t 31 afe T & aug § aff Aferai get €, @ @t ot wR= § fpann awg @

1.10 hrs / 10 ©¢
2.7.5hrs /7.5 ¢

3.8hrs /87%c



4.9.5hrs /9.54c

Correct Answer :-

« 75hrs /7.59¢

15) Ten men earn Rs.200 each per day. Find the average money earned per day by the 10
men when the money earned per day is halved for everyone./ ¢ 34 ufafes 200 3ua
FU 81 10 =9l gRT ufafeq sifefa em=ifr &1 st wira &3 wiafe ufafes sivfa e==ifr aaft &
fere amsh g1

1.Rs.110/ 110 94
2. Rs.105 / 105 304
3. Rs.100 / 100 U4

4,Rs.115 /115308

Correct Answer :-

e Rs.100 / 100 3T

16) Value of 2180 / 0.4 is: / 2180/0.4 T A &:
1. 5450

2. 9550

3. 7450

4. 8245

Correct Answer :-

» 5450

17) Jay started a business investing Rs. 12,000. After four months, Ajay joined him with a
capital of Rs. 16,000. At the end of the year, they made a profit of Rs. 5,100. What should

Ajay's share be in the venture? / ST+ 12,000 $Ud HT A% HY TH AT TR fHa1] IR
A UYTd, 16,000 $UT B YSil & A1 T 3TN AR g Tl a9 & o | IiH 5,100 I
BT ATH FHMTI 59 IeH § ST BT 3= T AT ATRT?

1. Rs. 2,400 / 2,400 SUY
2. Rs. 2,700 /2,700 3T
3. Rs. 3,600 / 3,600 3UY

4. Rs. 3,200 / 3,200 94

Correct Answer :-

« Rs. 2,400 /2,400 SUY



18) Mohan bought 5 dozen eggs at Rs. 20 per dozen, 7 eggs were broken. Find his

percentage loss. / Hgd 20 U Ufd goi W 5 i i Wiledl 31 7 313 g &1 3P gIfA &1
wfcr=Td 91d B}

1.11.62%
2.12.65%

3.13.16%
4. None of the above / SWRIad & ¥ Is gl

Correct Answer :-
e 11.62%

19) A dealer marks his goods at 35 % above the cost price and allows a discount of 20 %
on the marked price. Find his gain or loss percent. / U® fagpar sru=t Tﬂﬁaﬁ GOk Y q
35% SR Sifhd HIaT & TF II9R BIHA IR 20% 1 Je USH HIaT 8| SHP ATH 3yaT gIi &1
wfa=ra J1d S|

1.6%
2.7%
3.8%

4.5%

Correct Answer :-

20) If six workers are required to make 18 desks in 12 days; then, how many workers are

required to make 36 desks in 24 days? / af¢ 12 feA # 18 Aull &I §911 & forw B8 yfvw! i
STIHdT gl § af 24 fel # 36 AW &Y 91 & fore foraq 9 smaza® €2

1.5
2.6
3.7

4.8

Correct Answer :-

21) A man at present is 4 times as old as his son. In 20 years, if he will be only twice as old
as his son, then the present age of the son is: / T& J&Y qdHTH GHT H 304 TF | 4 7T g7
2120 gt #, afe 98 3MuA T | Fad g ST N, ol T B T 31 3:

1. 20 years /20 @§



2.10 years /10 G
3.12 years /12 L

4. 14 years [ 14 CL

Correct Answer :-
e 10 years / 10 99

22) An aeroplane covers a certain distance at a speed of 240 kmph in 5 hr. To cover the
same distance in 4 hr, it must travel at a speed of / T® §aT§ oIgTdl 5 Te A 240 fHt ufa g
P A TH AR g @ Fra g ST g Fr 4 9 d aa v & g 37 ot
TIfel & AT HRAL AR

1. 280 kmph / 280 fordl ufdt ger
2. 300 kmph / 300 fobeft ufct gier
3. 325 kmph / 325 fodt ufd der

4. 275 kmph / 275 ToHT Ufc ger

Correct Answer :-

« 300 kmph / 300 ot Ufd e

23) Rahul is older than his Sister by 4 years. If the sum of the ages of Rahul and his Sister
is the Square root of 324, then find the age of Rahul. / I§d 3Tl 964 9 4 994 98181 Al
TG T STD! T8 DI 3T PT AN, 324 BT T 3, O g B 3 [T L |

1. 11
2.12
3.9

4.8

Correct Answer :-

24) The series given below contains a sequence of alphabets and numbers. Identify the incorrect

combination: Fﬂ%&"ﬁl‘s‘ mﬁ, N&Iﬁ@mﬁﬁ@ﬂﬁﬁﬁ%l WW@W
i.derri0215deirr

ii.derrl0215deirr

iii.derri0215deirr

iv.derri0215deirr

1. iii



25) Find the average. / 3NTd ATd cxd
70, 76, 82, 88,94 & 94

1. 87

2. 88

3. 86

4. 84

Correct Answer :-

26) Today, the age of a father is thrice the age of his son. After 5 years, the age of father
will be 2.5 times the age of his son. The age of son today is: / 3T & f&=, fiaT Ft 3y ITSH
T3 3t 3G A 9 AT 31 5 a9 ugTd, frar &1 3Ry g3 &t 3y $t 2.5 A1 g1 FAi | el & fe g
C4| S f

1. 22 years [ 22 Gl
2. 20 years [/ 20 G
3. 15 years / 1539

4. 18 years /18 Gl

Correct Answer :-
» 15vyears /15 Iy

27) A person travels a distance of 30 km by car at a speed of 60 kmph and a distance of 50
km at a speed of 25 kmph by bus. What is the average speed? / U% Jfdl HR gRT 60 T
wfd ger 3t i I 30 fH $t gt a7 Fear § Td 79 gR1 25 e uia ger 3t wfa 3 50 56 it g
T Har 2| 3a Tfa T 82

1. 25 kmph / 25 foodit ufa ger
2. 30 kmph / 30 fopdt ufd et
3. 32 kmph / 32 foHt fd der

4. 40 kmph / 40 fo4t ufd der



Correct Answer :-

« 32 kmph / 32 fodt ufa der

28) Imran has Rs. 1,200 when he goes to the market. He buys 2 shirts for Rs. 350 each, a book
for Rs. 110 and spends Rs. 75 on buying fruit. How much money is he left with? / SHTH & U
1,200 393 & 919 I8 TEIR TATI I 350 FUA Uil HHIT B G & 2 FHiol @idl, 110 T4 St
TP [P TGl U9 Bd Tied & e 75 300 T {5 | 39 uy fpasit omRTiy o<t 32

1.Rs. 315 /315303
2. Rs. 180 / 180 ¥
3. Rs. 285 /285 304

4.Rs. 390 /390 30

Correct Answer :-

e Rs.315 /31530

29) A fun fair had an entry fee of Rs. 250. The fee was reduced by 20 % and the revenue from
sale of tickets increased by 12 %. What is the percentage increase in number of visitors? / Tdh

TR A $T YA I[P 250 IUA 3| YD Bl 20% HH fhar a1 o fewe & fawwa d wia
TG H 12% Ft 93 §31 ANigD! &1 T= A gfx 1 wia=ra a1 82

1.52%
2.40 %
3.46 %

4.20%

Correct Answer :-
e 40%

30) A student scores 90%, 66%, and 54% marks in the test paper with 100, 120, and 150
respectively as maximum marks. The percentage of his aggregate is: / Th faendf 3 100, 120 U9

150 3ifAreau ST ara Tem UHTH H HU: 90%, 66% TF 54% 3 3ifold frd §1 3T Fd
TRT T ufa=rd @

1. 72%
2. 68%
3. 65%

4. 70%

Correct Answer :-

e 68%



Topic:- Science and Simple Arithmetic

1)
In the adjoining figure, 1 | m and’t’ is the transversal. Find the value of (x - v). / fer e A A, 1 || m
R 't IFAEET B (x-v) F A AT B

r

4
dy

Z .
s —f":ﬂﬁlﬂ i

o : = m
—-/ 2y +80

1. 20

2)
In the given figure, If 2CAB = 60°, ~ABC = 35°, then -ADB = . B oaw A
#, af¢ £CAB = 60°, +ABC = 35°%, dT 2ADB = [

’ \_/ E
1.75°
2. 85°

3.55°

4. 65°

Correct Answer :-

o 85°



3) Simplify / GTe Hfar (E]E . {sz}z v 31 4

4. 123

Correct Answer :-

4)

1 1

If (x-i} = 12, then the value Dfx2+x—11is:f2]ﬁ‘(x-;} =12 %‘,H’Fx2+; &1 HI I

1. 146
2. 148
3. 140

4. 144

Correct Answer :-

5) Find the T.S.A (in cmz) of a cylinder whose diameter and height is 28 cm and 16 cm, respectively. /

gagqmwmam@ﬁﬁ.ﬁ)mﬁﬁﬁmamm: 28 T, 3R 16
]

1. 2460
2. 2230
3. 2320

4. 2640

Correct Answer :-

» 2640



6) A biosphere reserve is divided into: / Sqdsa ﬁﬁl’qﬁ'ﬁ favnfora fear man 8:
1. Five zones / OTd &1 #

2. Four zones / IR &A1 &

3. Six zones / B8 &A1 |

4. Three zones / dlI &3 &

Correct Answer :-

« Three zones/diF &%ﬁﬁ

7) When acid is diluted, the concentration of hydronium ions in the solution . [ old 3T

dIPpd el e, A fRega A gssiFuH smaa s wigor |
1. increases / § gf& BIT &

2. does not change / & TRaffd & &l @

3. decreases / H HHI Bl §

4. cannot be measured / &1 HIUT gl off Tbdl &

Correct Answer :-

e increases / | Q@ﬁ?‘ﬁ %

8) If an angle 'x' of a parallelogram is 24° more than its adjacent angle, then the value of 'x' is: /'Clﬁ

TP GHITR TIYT BT BT 'x' THB AR I A 24° AP §, 1 'x' BT A GH:
1. 110°
2. 102°
3. 98°

4.76°

Correct Answer :-

9) If one member of a pythagorean triplet is 10, then the other two members are: /afe m‘s’zmﬁw
et &1 te 93w 10 2, 9 3 3 e Bii:

1. 15,17
2.35,38
3.63,65

4.24,26



Correct Answer :-
o 24 .26

10) Vertical gardening on Metro pillars and Expressway pillars has been undertaken in Bangalore.
This will help in serving: / STER # Hel & THY 3R TR ART & Wl UR SHeafeR IRTart &1
10 YRY a1 a1 81 399 599 Hee faaf:

1. More oxygen emission onIy/ﬁl’C% 3% Sim\—ﬂ:fm:f
2. Green landscape only /Wﬁ?‘{q@

3. Air purification only / WWW

4. All of the above /Wﬂ"ﬂ

Correct Answer :-

« Al of the above / Sugad Tt

11) An object placed at the bottom of a tank filled with water appears to be at a depth smaller than its

actual depth. This is due to: /Wﬂﬁﬁwmﬁﬁﬁ?@%ﬁﬁ?mmm
B TER8 W I g3 3w usdh 31 G091 59 SRUTgIan 8:

1. Dispersion / fawivA
2. Refraction / 3Udc
3. Total internal reflection / Pl TS TRIaa-
4. Reflection / TRTAH

Correct Answer :-

e Refraction/ \’rI'CITﬁi:[

12) The sum of three consecutive multiples of 7 is 840. The smallest of these multiples is: / 7 & d=

PUNTA UITP! BT AT 840 8 1 3TH A TIA BIeT OIS §:
1.350
2.273
3. 266

4. 252

Correct Answer :-

e 273



The rate of flow of electric charges through a conductor is known as: / b dIcich 3 Wﬁgﬂﬂ

3Ta P TaTE B X F1A pgard ¢:
1. Electric potential / ﬁ_{{qﬁ faya

2. Electric current / ﬁ@qﬂ YRT

3. Electrical energy / ﬁ@’qﬁ St

4. Electric power / ﬁgq?r RIES]

Correct Answer :-

« Electric current / ﬁ_g'q?f YRT

14) The volume of a cubical box is 19.683cm>. Find the length of its side. / WW%@W

3Ta 19.683 T AHY. B | SHST YoIT B a1 I B
1.2.3 cm /2.3 94,

2.0.27 cm/0.27 9.

3.2.7 cm/2.7 94,

4.0.23 cm/0.23 I,

Correct Answer :-

e 2.7cm/2.7 9.

15) The production of goods in a factory increased from 40000 to 50176 in two years. Find the annual
rate of growth of production. / U% et § Gt a6l # A & I H 40000 I 50176 TP B gfex
g3 | SWTeH &1 g &1 a1 v J1a B3|

1. 10%
2. 12%
3. 8%

4. 5%

Correct Answer :-
e 12%

16) Both power and manure are provided by: / =1 O § f5ad gRT uiaR a1 @1e &l uerH Eay
ST %

1. Biogas power plants / o9 1 wifed Tg=
2. Hydroelectric power plants / Tﬂ?lﬁgqﬂ RICSESLE
3. Thermal power plants / ST Lfad T4



4. Nuclear power plants / BlECIRRESEIRE]

Correct Answer :-

» Biogas power plants / 9 1 wfed Tg=

17) Which of the following statement is TRUE with respect to all living organisms? / g Shifgasiia &

deld A A s sy I @2
1. They expel waste products only /aﬁt% WWWW%I

2. They grow and reproduce more members of their species onIy/aﬁIﬂ?a@ﬁ% 3R 3T Ui &
3HfYH TRl BT S dIG Hd ¢ |

3. All of the above /B'l?l?ia\_'[ﬂ?-ﬁ

4. They need food and convert it to obtain energy only/G%ﬁl'q% U &1 TRl @?ﬁ% 3R S
T = & forg I uRafdd axd 8|

Correct Answer :-

e All of the above /G'Cl'é?ﬁﬂ'l-ﬁ

18) Lymph is: /m%z

1. Blood without WBC / S&cgad fgd e

2. Blood without RBC / 3RE T Qe Tard

3. Plasma itself / &3 Silagod

4. Plasma without platelets / &g Ufe I3 Slidgad

Correct Answer :-

« Blood without RBC / 3{TRETE] zi%a d

19) Proteins are essential for . /Iﬁ?ﬂ""l' » f%l'q W%I

1. getting essential energy for the activities of the body / IRR D1 feparadi %Tj'\\_rl??\ﬁ W‘fﬁ% 1%111
2. growth and development of new cells /ﬂs‘aﬁﬁm\%ﬁaﬂq@ ﬁ?ﬁm

3. quick response of the cells to react RIRIER] %ﬂmsﬁﬁ aRd @Iﬂm

4. decreasing blood pressure / Ydd qld hH CRCCAIY

Correct Answer :-

« growth and development of new cells /%ﬁﬁlﬁ@[ﬂ%g@ 3R /g

20) Why do female mosquitoes need highly nutritious food in the form of blood? / HIGI HTY P I

& =0 # 3= NYUga HISH B TaRghdl ) gl 82



1. They have mouth parts to suck blood /@ﬁﬁlﬁﬁ%ﬁﬂwm%l

2. They are carnivores /anm%ﬁ’rs‘lﬁ%

3. To be able to lay mature eggs / gRuea H@ﬁ%mw%ﬁﬂl

4. They like to spread disease like malaria through blood /é?ﬁﬁ%m&‘m@mﬁﬁm@@rﬁﬂ%ﬁw
G

Correct Answer :-

e To be able to lay mature eggs /WW%%WW%WI

21) Which of the following is not true about cell theory? / PRI Rigia & fAwg A f= d A CaE
1 9 51 82

1. Old cells divide to give new cells / W ﬁﬁmn fauTiora 33[ D 7‘|_st aﬂﬁmq AT % [
2. All living things are made up of cells / gt Toila aqu Hirpraf F Ffifa gt %I
3. All cells are identical / GHT HIRH Q. JHE=Y Eﬂ?‘ﬁ%l

4. The structure of an organism depends on its cell organisation / STa &1 AT ISP BIRD T TS R
R et 31

Correct Answer :-

« All cells are identical / g4t aﬁﬁmn JHSY Eﬁ?‘ﬁ % [

22) One of the following sets does not qualify to be a species. Which is that set? Fradeidd Udh

USIIfa HEd a1 81 | 98 $I9 AT 9 82
1. The different animals living in the neighbourhood / 3TH-UTH q@ﬂ i} e Q% fafyrsr ugJ
2. Humans living in Africa, America and Europe / 3{%h1aT, SMER®T 3R RIY H 3§ T8 7™

3. Dogs belonging to different breeds — Alsatian, Labrador and Pomeranian / faf¥a ==af & & -
AT, ASTSIR 3R TR

4. Different breeds of cows like Jersey and Holstein / 7T &1 faftre 7ect S S, gl =

Correct Answer :-
 The different animals living in the neighbourhood / SHTH-UY tl’eﬁﬂ i 38 ?%' fafrsr uxJ
23) CANCELLED

After allowing a discount of 8% on the marked price, an article is sold for Rs.1288. Find its marked

price. / 3P e TR 8% B e 37 & 91¢, TP a¥g 1288 T A o< 713 | 3qT Sifdrd Yeu 19 B3|
1. Rs. 1354 /1354 30
2. Rs. 1345/ 1345399

3. Rs. 1542/ 1542 30



4. Rs. 1518 /1518 SUU

Correct Answer :-

e Rs. 1354/1354 300

24) Acid rain is caused by oxides of ./ 3 qut & 3ITFIISS & BRI

Goikd
1. phosphorus and carbon / PIEpRY Tl HTe

2. sulphur and nitrogen / dethX dYUT "Ilsg\lkﬂ"l

3. sulphur and phosphorus / dehX dYT B IR IR

4. nitrogen and carbon / '_'ﬂsaﬁl:[ GRICACE]

Correct Answer :-

« sulphur and nitrogen / Heh d¥yT 4 Iig\l\rH

25) Alloys of which of the following metal are used for making aeroplanes and automobile
engine. / =1 & & 5w utg & g & faume siv sifetmaTga S99 a9 & g Iua fan
STt 81

1. Iron/ ?ﬁ%T
2. Aluminium / TIHTH

3. Mercury / URT

4. Copper / Tl

Correct Answer :-

e Aluminium / Q?ﬁrﬁuﬂ

26) Find the value of 'a’ if (6x + 5) is a factor of 6x2 - 7x + a. / AfE (6x + 5) U WS B 6x2 - 7x +
a DT, 'a' BT HIH JTd B}

1.5

Correct Answer :-

e -10



In the aquatic, food chain consisting of crane, phytoplanktons, tadpoles and fish, the position of crane

is: / STOTTg @Tel mﬁmﬁﬁ, UTqU Wid®, %S'fﬁ'ﬁﬁﬁ'?ﬂ%_c‘ﬁ%, &4 ot fRfa gl
1. IV trophic level /IV GIf¥ el TR

2. I trophic level /1T QYT TR

3. I trophic level / I Tf¥&dl TR

4. 111 trophic level / IIT UIf¥&dl TR

Correct Answer :-

« IV trophic level /IV QIf¥hdT TR

28) The perimeter of a rectangular field is 210 m. If its breadth is 40 m, then its area (in mz) is: /

gﬂmﬁmmuﬁnﬂm:ﬂ.%l Tfe sHST NS 40 Y. 8, 9 3BT TG (¥ H. H)

1. 2600
2. 2800
3. 2820

4. 2540

Correct Answer :-
« 2600

29) The diagonals AC and BD of a square ABCD meet at 'O'. If OC = 16cm, then BD =

a1t ABCD & fawof Ac iR BD fig "0 wR firea &1 afd oc = 169+ 8, @Y BD = |

1. 30 cm /30 99t

2.32 cm /32 TH
3.16 cm / 16 Q&

4.28 cm /28 THY

Correct Answer :-

e 32cm/32 94t

30) The histogram depicts the marks obtained by 45 students of a class. How many students

obtained 50 or more marks and less than 70? / = emaafe | 45 mmmmﬁm
a1 8 | fFaq B A 50 F iR Afp 70 ¥ +H 3 ur fpu 32
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E'r o
1. 16
2. 19
3. 15
4, 18

Correct Answer :-



